S=0gle 1

=20190] I =20/3/5 m SASHoS
=229| 03} BRI} E 223} o AHDICI | E=0f
si)l2e  E32055 O =20/200| m e S
=20/900| T =20{018/00& T SRSSREME
=20{018/04& 1 =20/-8:20/ Tandem I =20 0|AER
Z =20
SEHE20| I(ER)
=20 £719 LIIT(ER)
_ =22HE=
b E S
o ¢ = HAZRIBH(ER)
_ - AYFYAAL(ER) oI AR (ER)
AR S0/ SINA LHNI(ER) ooy v mm e
el = === QIEY I(3=) S NZ28B(E=)
xNBSE S EERNEEE s2emiET S
o K&l S NI (ED)
AAXNZ(ER) - —
S2IMED)
HIELIAHSUHOIE(ER)
MR (ER)
IRA(ER)
=20/ 0S
HI ZLIAS20f
figif;‘ﬁ fig}ffoﬂg o SxECIoS
Soroees s=0=S I o o) ® | 0] 4 S 20f
=2012Y I HSK 20| I P,
==2823s9| 0|l =2 ECS S &AF==20]
SEAS 019 s=UISSES =213 93524
~ _= x:_
S=0{-8t=0{ Tandem II HSKz—.01 o =20 Alg 2 aier
ANAIES=0]

S ANSLAE
OHHE S =01




KQQWWEQS

S0 9iIQt M|
Z30] YorIQt £

HSK 48 & &

3859 12%s
MY OHIg &
AHY IYYS I

\

-

S0 Qotts
530 A5 /A
HIZYASZSI0]

HSK 58 & &

~

HIZA HFRUH O

NEENE T

. _/




